i} &= 1% BT K 18

6 O0m? #H37T X

> >
W=

: §=1/30
: S=1/60

£ K Ew FH=505mm

W & 8 m=
3610 9575
205 3200 205 1005 401885+25=7565 1005
153 ¢ 603 | |153 153 ¢ 603 153
1 205 800 ‘ 0 A 1 = [
! ::% ! W A e A FL T
\ g x i
S | = 1 + =
B | T
200 ‘ D c ! A A c Il D
. g = | | AU
FRPZK H1 6 1 ‘ N ‘ FRPZK H1 6 1 ﬂ‘
| S | 1
‘ 2 L ; 1 .
‘ = ! \ T L=
! Lo Lo
= Q3 —‘—’ P CHiL Y% T
i = | SWPR 7B 15. 2mm HEAE b |
1 EREY b
217] o 601 | [217"
2890. 5 1719.5 1952. 5 5670 | 1952. 5
¥ &
1952. 5 5670 1952. 5
@ g ) A —
< | \ |
&= | _ o |
| W P N AL PCHlE VR [
| ERE SWPR 7B 15. 2mm |
| |
2 ! !
= Lo | |
g ' |
0 | |
™ | D C A A C D
| |
| |
| |
1005 401885+25=7565 1005
NI =—=N 3 V=S - & > = ~ fin
25§ 60. 62m XETE L VIS LT, MEBRAILOE S FHERETT 5,
AR
% | NT60T2-RHU5 & B | MR KR 60m $ANT[X | B AL | mm | SCALE Zn o | | ey | T an | LY mear BOOR




